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Required area =

1
f x|x| dx
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Required area = | 12 Ldx
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= [log|x|]i = log2 sq unit
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Area, A1 = f sinx dx
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and area, A; = J- cosx dx
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Required area = f_oz (4 — x¥)dx + f: (4 —x)dx
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y=2x—x
v
1

~ Required area = f [(2x — x?) — x]dx
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Required area = 2 “~/4axdx
= k(a)(2\/4aa)
y2 =4ax
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%cﬁ/z = 4\/aka3/2
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Required area = f (\/;C — x)dx
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Clearly,

Required are = f asinxdx = 2a
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Required area = f (Vx —x)dx = (§x3/2 _ _)
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ANSWER-KEY
Q. 1 2 3 4 5 6 7 8 9 10
A. D B C C C A B A C A
Q 11 12 13 14 15 16 17 18 19 20
A C D C B B A A C B B
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